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General Instructions :
(1) This question paper contains 13 questions.

(11) All questions are compulsory. Marks are indicated against each
question.

(itt) This question paper contains § questions of 2 marks each, 5 questions of
3 marks each and 3 questions of § marks each.

(tv) 2 marks questions are Short Answer Type questions and are to be
answered in 30 — 50 words.

(V) 3 marks questions are also Short Answer Type questions and are to be
answered in 50 — 80 words.

(vi) 5 marks questions are Long Answer Type questions and are to be
answered in 80— 120 words.

(vit) There is no overall choice in the question paper. However, internal
choice has been prouvided in few questions. The candidates need to
attempt only one question from such questions.

(viit) This question paper contains Case/Source Based Question also.

1. When does Net Factor Income from Abroad (NFIA) shows Negative Value ? 2
OR

State the meaning of retained earning.

2.  On the basis of following schedule, answer the given questions :
Income (in T crores) 0 50 100 150 | 200
Savings (in < crores) |—20 | —10 0 30 60
(a) Calculate Marginal Propensity to Save (MPS) at ¥ 150 crores level of
income. 1
(b) What 1s the value of Autonomous Consumption ? 1
OR

In an economy 75 percent of the increase in income 1s spent on

consumption. Investment increased by ¥ 1,000 crore.

Calculate the total increase in income on the basis of given information. 2
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3. ‘ITYHIET H AI-AM (excess demand) USATR o 3T{eeh TTE 3qd hidl & | 99
TISTHIOT g U U Y o1 THLT 31T TS | 2

4. “ORa 9, T AT hT g1 § I foari | Aigensti il ATiieil gt H & |7 99 dohl
ST ST Y, | 2

HAUAT

“ AT T fohelt T o ST faehTd H Toa&T ®9 9 INTEH <ol & |7 9T 319 feu T

HYT Y UgHd & 7 AT H |

5. UG oh HTeSli-eh YAl Sl TIHTed hid © Fdq [dehd ol S@al el Tobdl 8 |” AT

T

deh!l g SATEAT Y | 2

6. dY SR Gfgd GHATE fob TH™ 31T ) TUET Hd T9y HEfalaa & 91 $91 SIa8R

IERIEEIDUIE
(a) Uk ®H gRI AT Ul T YT 11,
(b) UHA H Tacef TATHI GRI T=qAT 1 ha 1%
CE|
g g=91 & W9 ¥ ¥%a wiq Idg fswiel (GDP Deflator) &t T0MET @
[EESEE D 5
au 2014-15 | 2016-17
difgeh GDP 6.5 9
ardfaes GDP 6.5 7.2

7. AR [, Sd WG fohd TehR T {oehTd o 321 ! UTH i U HETIH 8l Tehell 2 | 3
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3. ‘Excess demand creates greater opportunities of employment in the

economy.” Defend or refute the given statement with valid explanation. 2
4. “In India women participation rate is lower in urban areas than in the
rural areas.” Explain with valid arguments. 2
OR
“Infrastructure contributes directly to the economic development of a
country.” Do you agree with the given statement ? Explain.
5. ‘Stimulating public mode of transportation may lead to promote
sustainable development’. Explain with valid arguments. 2
6. Giving valid reasons, explain how the following would be treated while
estimating National income :
(a) Payment of indirect taxes by a firm. 1Y
(b) Purchase of goods by foregin tourists. 1Y,
OR
Using the following information, calculate and analyse the value of Gross
Domestic Product (GDP) deflator : 3
Year 2014 -15 | 2016 - 17
Nominal GDP 6.5 9
Real GDP 6.5 72
7. Explain how Bio-composting can be helpful in achieving the objectives of
sustainable development. 3
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8. ‘Ucld BiLde UM o HHT T GHEITIT <hi TfeTH SATEIT hY | 3

9. YR 9 4 ! 1N SHEEAT gg &l T a TIveiyor i | 3
am TNk TEEAT dig (2015)
T 1.2%
< 0.5%
10. afe foreft srdieqazt 4 s ot | gfg BIdl &, a1 g BT I AN bl HH JHTGd Tl ?
ST e | 3
11. (a) () THCREd Hihgl & HUR W, HEA Fd | AE 4od 91 (NVA,.) hl
TUTHT < 3
HH =W e () HUS H
aEl
(i) 3TE o1 Tid $ohTs T (3) 20
(ii) 3cdTe <hl fashl (3hTsa ) 1250 (31T
(iii) 3T I 5,000
(1v) T it ST 34T 1,000
(v) T § aferd (=) 500
(vi) Tshel IUHNT 3AATGeh aEU 6,000
(i) 3TfaH T3 9 TeIadt aeq3T § Ta9g hid i FATIIThdl 1 Bl 8 ? 2
JAAAT
Gb) @) 3 IeEw gr, 9ransi i gren 6 9fiy samet o | 3
(i) THata ‘Tacen & wte g |rem A o1 e T8 2 | feu U U o1
T e | 2
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8. Explain briefly the problems faced by Great leap forward campaign. 3

9. Compare and analyse the Annual Growth rate of population of India and
China. 3

Country Annual Growth rate of population (2015)
India 1.2%
China 0.5%

10. If in an economy Bank rate 1s increased, how will i1t affect the demand for

credit ? Explain. 3
11. (a) (1) From the following data, calculate Net Value Added at Factor
Cost (NVA) : 3
S. No. Particulars Amount in (X Crores)
(1) Price per unit of output 20
(11) Output sold (units) 1250 units
(111) Excise duty 5,000
(1v) Consumption of fixed capital 1,000
(V) Change 1n stock (—) 500
(V1) Single use producer goods 6,000

(11) Why there 1s a need to make distinction between final and

intermediate goods ? 2
OR
(b) (1) Discuss briefly the concept of ‘Externalities’, with suitable
example. 3
(11) Export are not a part of ‘Net Factor Income from abroad’. 2

Elaborate the reason behind the given statement.
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12. fordt srderaeen °§ Thifasil gama i afa @ d 93w fhal gl Hifgs IThIv

™, g
3cd d SYTEAT hY | 53

Th{UT HATAA4

frafefad T &1 SHgEs 31T L a1 AHfaiRad 999 @t 13(a) 9 13(b) &

G |

b3 bl SETHHCAT 7Tl STk ATSHT THUT TRAGY H STIRYA FCEH1 b ToehTd i JicdTigd
UMt | IE TS 9T 3TR HHe S ST 1 S@TaT eohl 3110 Tarehte ohl i et |

% TSI, HII U T(¢ & AT | BI [hAMI 9 oY g HEIH AN o o0
CIDERRIECT] (connectivity) g 37Tiefeh mﬂﬁﬁWﬁ'ﬂTﬁE% |

fq Tk JASET 2022-23 F91E & g ° g, I Tk Ufd Ta4icHss 90T ANTd 9T i

~

H TUTET JTet THaE o Hawd 9 Y13l STl & |

7T wifch AT o 3Adid, toTd BT HYhI 3T FSHRIT W AfId T4 1G] o HaTA|
1 foaehTd Sl dTfeh 3= I8¢ JTY[d G T W §-4 H g1 (Hel Heb |

HId: ShHIH ZI8rd, Bl 2, 2022 (i)
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12. State and discuss any two monetary tools to control inflationary pressures

in the economy. 5

CASE STUDY

Read the following text carefully and answer question number 13(a)

and 13 (b) given below :

The centre’s PM Gati1 Shakti Scheme will give much needed push to
infrastructure development and logistic across India. This scheme will
drive the economic growth by giving boost to industries such as steel and

cement.

Greater connectivity 1s expected to improve economic opportunities
for small farmers and small and medium enterprises through new roads,

cargo terminals etc.

The Gati Shakti Scheme features at the centre stage of Budget 2022-
23, highlighting the importance of quality multi-modal transport in

achieving overall cost competitiveness.

Under Gati Shakti Scheme, the railways will develop new products
and services targeted at small farmers and businesses to help them

become a part of layer supply chain.

Source : The Economic Times, Feb. 2, 2022 (Modified)
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13. (a) 3ATYTHGh 9L o1 31Y FdTU |

(b)  TUTHH T Tk ATSHT o Toheal &l IeTAT hl SATEAT e |
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13.

(a)
(b)

State the meaning of infrastructure. 2

Explain any two objectives of PM Gati Shakti Scheme. 3
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